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O sinacosf = %{sin(a + ) + sin(a - p)}
@ cosasinf = %{sin(af + B) — sin(e — B)}
(3 cosacosf = %{cos(a + B) + cos(a — B)}

@ sinasinB = —%{cos(a + B) — cos(a — B)}
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sin(a + 8) = sina cos 8 + cos a sinf3
+) sin(a — B) = sinacosf — cos a sinf3
sin(a + B) + sin(@ — 8) = 2sina cos 8

2sina cos B = sin(a + ) + sin(a@ — )
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sin(a + B) = sinacos 8 + cos a sin B
—) sin(a — B) = sinacosf — cos asinf3
sin(a + B) — sin(@ — B) = 2cosa sinf8

2 cosasin B = sin(a + B) — sin(a — B)
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cos(a + 8) = cosacos S — sina sin 8
+) cos(a — ) = cosacosfB + sinasinf
cos(a + f8) + cos(a —B) = 2cosacos 8

2cosacosf3 = cos(a + fB) + cos(a — B)
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cos(a + ) = cosacosf — sina sin 8
—) cos(a — ) = cosacosfB +sinasinf
cos(a + ) — cos(a —B) = —2sinasinf
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(D sin A + sin B = 2sin 0s

2 2
(2 sin A — sin B = 2 cos A+B sinA_B

2
(3 cos A + cos B = 2 cos A;B cos A-B

2
® cos A — cos B = —2sin A;B sin A;B

MEOAXNEEMOANRNEFE U LDITINEEHZREL7Z0DE[WZD LTRDFT, &
FTOEEIL, BEHOARE F-72<FEUTT,

O HAZT—D2HDsInA + sin B = 2sin A;B cos AEB PEXLWVERBWET,

sSinA+sin B7RD T, sin DIIEEH Z —>FZH L., AW LEbEET FEMOAKX

3



TXo272Z8eE>7<FAUTY)

sin(a + B) = sina cos 8 + cos a sinf3
+) sin(a — ) = sina@ cos — cos a sinf
sin(a + B) + sin(a — 8) = 2sina cos 8
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sin(a + ) = sina cos 8 + cosa sinf3
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sin(a + B) = sina cos 8 + cos a sinf3
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cos(a + 8) = cosacos B — sina sin 8

+) cos(a —B) = cosacosf + sinasinf i
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.. co0SA + cos B = 2cos
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